


count

Chromosome 1 - 2_sf.2 9297386 6 4

L e ¥ )

10

10

“
P e} '4"\*'—"‘\ e v O oF WH_“.

bp/1e+06

pos/1e+06

20

20

- (¥ l wanie

30

30




Chromosome 2 — 2_sf.2 9297386 6 4

a-.- ..-‘
P o ®e®
o -, e A Tae B
Lo ety B mD Sl LarmmlaT e
e s, = -
6~ = e B . ¢ =
L . e oo % e -
° 2e 2 0% oo . (] ]
] ST . Ll U R Vo
P. [ = S - A X . o N. o 2 hm W_ﬂﬂ.
I "‘*0-:-1-!__.. < J g & oo ' . el
0- | ! 1
0 10 20
bp/1e+06
1_
<
>
o
(@]
O_

10 20
pos/1e+06

30

30




count

1_

> -.m-;_.pf"“':-q_"..w'r—t""-\,__,__,‘____ Ve

0

'--___—-—-_

10

Chromosome 3 - 2_sf.2 9297386 6 4

ageecumnds o aftrme oiprnt

bp/1e+06

pos/1le+06

20

30

30



Chromosome 4 — 2_sf.2 9297386 6 4

125 = ]
10.0 -
a 7.5=
g
= 50-
1
25 - ® e N
h MWMEWW“' wrd
° -"‘-.- -
0.0 - t S anmann a4 & Soum cmem eme  coGmme® %u PY — ! Yoo s - ] Lo . -—-'--n_.‘ Sl ‘ g~
I I I
0 10 20
bp/1e+06
l -
c
>
(@]
(&)
O -

pos/1le+06

30

30



count

Chromosome 5 - 2_sf.2 9297386 6 4

o | - "~ Mum‘d\"m _ e — — —
0- .M cssmmen . y . — PN i - ,__.— .A‘—. .\.‘-'\_ . F = LA M“"r Npd” Ryt "A'd:. - :Pp
I

10 20 30
bp/1e+06

o

30
pos/1le+06



